P-HS - 47
# 1,596,812,
AR, 257 -217, 3/

@

5  x
/)j S - ,,2 . ;)J_sfx xg)(j 7& -# +72 r)y - Lsxsze ,
—
[/;;7 (Beynjormt s ¢ / {L/Mcﬂﬂ ; Z/VJT Y /6’1—/4/4/#/4 ;
‘ fﬁ/onfﬂﬁnl? 1
&) 4= Ry IRV N W) = m2x AX 9 (xra)(an-3)(sx)  -axSXe3x0
2 2 - Sl Y 3 |
Y- Tx ey Quanric - ¥¥panse {Cv8it -3 " bepree | -ax
J 3 Tenms % TErnmS
//Vﬂfﬂ sy Aorns A as x-v2 2 -00 as x>00 y=2>-®
ancn\‘s st be 'n“{y"‘i as X3 - Y@ af X3- Yy %wJ
//.} LSt smate Zemps of 12) EBrimares pywimom Vitsd
4 _ 3
/ﬂﬂ) fim (3x™5x f7) f[x)ﬂ:/sxz—x 2 gld=x=3x-¥
| = lim /3X) ﬁ %;«Jty/,: xX=,7%¢ /}au—. (j/a/A : {—-/&, 9/3;

Xow

anol

J

‘5,) lim (7)( 7)‘)
f >~
y w-/m / 9)(/)'[3 JJﬂ)foX) X *X +/ passes %Aanéanﬁa//ﬂve f‘r:fz

, X2
Lasqe negahive cubed 'S - 3 ‘ .

| [/:ge/ng:ﬁ'n e:wsf -9 b) £ 5)((5) +.5+/

Y/ shve )
it —r’"’ﬁf) 2. 5"-')(3!-)( | Infersechom Myf¥3+x+/

f—f‘r‘, 424 ;

{ 7 ‘ 3’ o -
#5) y=1-. 58t 54 90¢ L an0t b 247t " oy

4) grafh 01£t£8 -2yt d) tascesr ,a/,,fﬂ,d.y 0. 960 =
A) lﬂ/“(mlon whon. foundlat? _(15°2) at7 y=3.024 . payrze 45 [Feb /993
| '\7 [~ 0+0-0%0-0 —Z/ Kwndlred ,M,/J . N

c.) /)/ulnfwn reach 0 at! X=75%0 e) lobvesriin v 1997 = =/ (5P handhed = F110

; e SYR 12 24, 4¥ —‘C)'ul: t8‘i'7? //17‘ Fssr8LE - Coved) BE zgzwj

i

B NESNT FIT plaee HERE
\ | |

|
i



X)) Cost in millions of X Hhousand unik:
Cex)= #lx-1)" ¢4
&) Gupi (09

b)) Revenue (millions o 8 ) Fom selliny
X Mauh«a’ unbs

Rlun)= 10x

| H 1o million for / %um/am‘/:/ o
o , . '
X /6,000 ,ai/ tunit

c) When does -y[)fm. J f ﬁ’w[ po»';.‘s of o‘n{ﬁafftd("hg

N
7] V=, 1720 # IS22€ = p347E"

V= volume in ['ters in S Sec. Cycle.
e ocye 'g

a) braph for ostsg {f« 9
b) mxw/.«:[l/a £3¢] ae
€= 3./95

Lungs conforn « F8C ters 3195
Seconds Sado Fhe cyclc'

-

e ——

C.) The volume 15 2ew al =0

Plake H’d-"l‘/’r' Sexed /5'004 X Yoo uu,f/'.f/

and £%5. The /unj.! ac

Lreake Eyor i |Gt 500 arol Wuu;’/.fj

En i‘} at the Skt and eud
0){% $ Second c7c/e.

Lose /’Vm{/ ; E‘: X £500 aml X ? Yoo am?{

.3/) 5 17 /d/ynmm‘a/ of a/gﬁ/ge»
 bhese A /S /;a:.%/( odA /{fﬂ,

c) ‘11'3 an oclol Luncloom
E'/“ - \7[7) z X{fxzz‘s nof wl/7

NoT Symmernie ACxr THE oxiGin/

a4 b j(—x) #-9(x)
o= T
et

6)j has an inverse

[Bese - ()= = 3)x2)(x1)

has Eeros at X=3 w=z2 andx:/

| which witt cause the Lunction to
? 1[;14'/ e A/f)/l}ﬂ»ﬁl/ liwe tes

J—

c) lim j(x)’: @

x> 5

Frus& -~ i (7’(!) 2-X (éf Whn P
fend cotticiont & negative] fhe fim#

will a///m:&é Atgative /»uC',.,?y (eabe Yirst:
Hen ' pake ne’?a’ﬁ‘lé(.

———

d) T# fim 3[7)= "”%n lim j(x) z®

x3-@ Y-S

N TRvE/~ £ [ =_Vl.l .

Coe ﬁA'c-'en,f/ﬁp ) must be /W;.’/«'ve
dod P limn'F o:‘g/x)= an X"
will be positive ,L/l’a.’)},




